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invigilator. Carbon copy of the Answer-Sheet and Question Booklet 
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	10.	 This Question Booklet consists of Parts namely :        Q. No.
	 Part – (1) : General Knowledge of the State	 –	 1-25 
	 Part – (2) : Language (Hindi, Chhattisgarhi, English)	–	 26-50 
	 Part – (3) : General Knowledge, Current Affairs,	
		  Sports, National-International	 –	 51-100
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	11.	 In case of any ambiguity in English version the Hindi version shall 
be considered authentic.
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General Knowledge of the state

	 1.	 According to census 2001-11, the 

decadal growth rate of population in 

Chhattisgarh is _________ %.

	 (A)	 22.59

	 (B)	 22.77

	 (C)	 25.73

	 (D)	 24.15

	 2.	 What does the last programme in 
farewell of Mawli Maai in ‘Bastar 
Dassera’ called ?

	 (A)	 Raini Jatra
	 (B)	 Dhanu Kandaya
	 (C)	 Ganga munda Jatra
	 (D)	 Mawali Parghav

	 3.	 What will be the economic growth rate 
of Chhattisgarh Economy in the year 
2018-19, if the state gross Domestic 
Product is given below ?

Year	 SGDP (Rs. in Lakh)

2015-16	 20
2016-17	 21.5
2017-18	 22.0
2018-19	 25.0

	 (A)	 10.64 percent
	 (B)	 13.64 percent
	 (C)	 7.5 percent
	 (D)	 2.33 percent

amÁ` H$m gm_mÝ` kmZ

	 1.	 N>ÎmrgJ‹T> _| OZJUZm df© 2001-11 _| 

OZg§»`m H$s XeH$s` d¥{Õ Xa _______ 

à{VeV ahr&

	 (A)	 22.59

	 (B)	 22.77

	 (C)	 25.73

	 (D)	 24.15

	 2.	 ‘~ñVa Xeham’ _| _mdbr _mB© Ho$ {dXmB© gå_mZ _| 
A§{V_ H$m`©H«$_ H$mo Š`m H$hm OmVm h¡ ?

	 (A)	 a¡Zr OmÌm
	 (B)	 YZw H$m§S>o`m
	 (C)	 J§Jm _w§‹S>m OmÌm
	 (D)	 _mdbr naKmd

	 3.	 df© 2018-19 _| N>ÎmrgJ‹T> H$s AW©ì`dñWm H$s 

Am{W©H$ d¥{ÕXa Š`m hmoJr `{X amÁ` H$s gH$b 

Kaoby CËnmX {ZåZmZwgma Xr J`r hm| ?

df©	 amÁ` gH$b Kaoby CËnmX	
	 (bmI é. _|)

2015-16	 20
2016-17	 21.5
2017-18	 22.0
2018-19			   25.0 

	 (A)	 10.64 à{VeV
	 (B)	 13.64 à{VeV
	 (C)	 7.5 à{VeV
	 (D)	 2.33 à{VeV

PART – (1)
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	 4.	 What is the rank of Chhattisgarh state 
in India as per forest area ?

	 (A)	 5th	 (B)	 4th

	 (C)	 3rd	 (D)	 2nd

	 5.	 What is the share of canals in total 
irrigated area of Chhattisgarh in the 
year 2018-19 ?

	 (A)	 36 percent	 (B)	 29 percent
	 (C)	 52 percent	 (D)	 None of these

	 6.	 How much amount is given in 
Mukhyamantri Kanyadan Yojana of 
this state ?

	 (A)	 Rs. 15,000/-
	 (B)	 Rs. 20,000/-
	 (C)	 Rs. 25,000/-
	 (D)	 None of the above

	 7.	 Who is speaker in Legislative assembly 
of this state ?

	 (A)	 Dharam Lal Kaushik
	 (B)	 Charandas Mahant
	 (C)	 Ravindra Choubey
	 (D)	 Tamradhwaj Sahu

	 8.	 Maximum rainfall in Chhattisgarh is 
from

	 (A)	 South-east monsoon
	 (B)	 South-west monsoon
	 (C)	 Returning monsoon
	 (D)	 Branch of arabian sea

	 4.	 dZjoÌ H$s ÑpîQ> go ^maV _| N>ÎmrgJ‹T> H$m H«$_ 
Š`m h¡ ?

	 (A)	 nm±Mdm±	 (B)	 MVwW©
	 (C)	 V¥Vr`	 (D)	 {ÛVr`

	 5.	 df© 2018-19 _| N>ÎmrgJ‹T> Ho$ Hw$b qg{MV joÌ _| 
Zham| H$m {hñgm Š`m h¡ ?

	 (A)	 36  à{VeV	 (B)	 29  à{VeV
	 (C)	 52  à{VeV	 (D)	 BZ_| go H$moB© Zht

	 6.	 Bg amÁ` H$s _w»`_§Ìr H$Ý`mXmZ `moOZm _| {H$VZr 
am{e Xr OmVr h¡ ?

	 (A)	 é. 15,000/-

	 (B)	 é. 20,000/-

	 (C)	 é. 25,000/-

	 (D)	 Cn`w©ŠV _| go H$moB© Zht

	 7.	 Bg amÁ` H$s {dYmZg^m H$m AÜ`j H$m¡Z h¡ ?

	 (A)	 Ya_ bmb H$m¡{eH$

	 (B)	 MaUXmg _h§V

	 (C)	 a{dÝÐ Mm¡~o
	 (D)	 Vm_«ÜdO gmhÿ

	 8.	 N>ÎmrgJ‹T> _| A{YH$m§e dfm© ____________ 
go hmoVr h¡&

	 (A)	 X{jU nydu _mZgyZ go
	 (B)	 X{jUr npíM_r _mZgyZ go
	 (C)	 bm¡Q>Vo _mZgyZ go
	 (D)	 Aa~ gmJa H$s emIm go
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	 9.	 Match the following.

	 	 River	                   Waterfall

	 a.	 Hasdo	 1.	 Chitrakot

	 b.	 Banas	 2.	 Ramda

	 c.	 Indravati	 3.	 Teerathgarh

	 d.	 Kanger	 4.	 Amritdhara

		  a	 b	 c	 d

	 (A)	 4	 1	 3	 2

	 (B)	 4	 2	 1	 3

	 (C)	 1	 3	 4	 2

	 (D)	 4	 1	 2	 3

	 10.	 Which of the following statement is 

correct related to ‘Rajeev Lochan 

temple’ Rajim ?

	 i.	 It is built in 12th century.

	 ii.	 It is built by Nal dynasty ruler.

	 iii.	 It has statue of Lord Ramchandra.

	 iv.	 The temple was made in 

‘Panchayatan’ style.

Choose the correct option.

	 (A)	 ii and iv

	 (B)	 i, ii, iii and iv

	 (C)	 ii, iii and iv

	 (D)	 i, ii and iii

	 9.	 C{MV `w½_ ~ZmB`o§&

	                  ZXr		  ObànmV

	 a.	 hgXmo	 1.	 {MÌH$moQ>

	 b.	 ~Zmg	 2.	 am_Xm

	 c.	 BÝÐmdVr	 3.	 VraWJ‹T>

	 d.	 H$m§Joa	 4.	 A_¥VYmam

		  a	 b	 c	 d

	 (A)	 4	 1	 3	 2

	 (B)	 4	 2	 1	 3

	 (C)	 1	 3	 4	 2

	 (D)	 4	 1	 2	 3

	 10.	 ‘ amOrd bmoMZ _§{Xa ’  am{O_ Ho$ g§~§Y _| {ZåZ{b{IV 

_| go H$m¡Z-gm H$WZ ghr h¡ ?

	 i.	 BgH$m {Z_m©U 12 dt eVmãXr _| ~Zm Wm&

	 ii.	 Bgo Zbd§er emgH$ Zo ~Zm`m Wm&

	 iii.	 Bg_| ^JdmZ am_MÝÐ H$s _y{V© h¡&

	 iv.	 `h ‘n§Mm`VZ’ e¡br H$m _§{Xa h¡&

ghr {dH$ën H$m M`Z H$s{OE&

	 (A)	 ii Am¡a iv

	 (B)	 i, ii, iii Am¡a iv

	 (C)	 ii, iii Am¡a iv

	 (D)	 i, ii Am¡a iii
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	 11.	 Under which Bhonsle ruler was this 
state when Britishers established 
their control ?

	 (A)	 Appaji

	 (B)	 Raghuji II

	 (C)	 Parsonji

	 (D)	 Bimbaji

	 12.	 When was Vir Narayan Singh was 
arrested after the revolt ?

	 (A)	 28 Nov. 1857

	 (B)	 1 Dec. 1857

	 (C)	 2 Dec. 1857

	 (D)	 5 Dec. 1857

	 13.	 Who is the writer of the Chhattisgarhi 
story ‘surhi gaaya Ki Kahani’ ?

	 (A)	 Pt. Sundarlal Sharma

	 (B)	 Pt. Sitaram Mishra

	 (C)	 Keyur Bhushan
	 (D)	 Dr. Khoob Chand Baghel

	 14.	 In whose memory the name of Ayush 

University of this state is kept ?

	 (A)	 Pt. Jawahar Lal Nehru

	 (B)	 Atal Bihari Bajpai

	 (C)	 Pt. Deendayal Upadhyay

	 (D)	 Pt. Ravishankar Shukla

	 11.	 Bg amÁ` _| A§J«oOm| H$m {Z`§ÌU ñWm{nV hmoZo Ho$ 

g_` {H$g ^m|gbo emgH$ Ho$ AYrZ Wm ?

	 (A)	 AßnmOr

	 (B)	 aKwOr {ÛVr`

	 (C)	 nmagm|Or

	 (D)	 {~å~mOr

	 12.	 {dÐmoh Ho$ níMmV² dra Zmam`U qgh H$s {JaâVmar 
H$~ hþB© Wr ?

	 (A)	 28 Zdå~a 1857
	 (B)	 1 {Xgå~a 1857
	 (C)	 2 {Xgå~a 1857

	 (D)	 5 {Xgå~a1857

	 13.	 ‘ gwahr Jm` H$s H$hmZr ’ Zm_H$ N>ÎmrgJ‹T>r H$hmZr 
Ho$ boIH$ H$m¡Z h¡§ ?

	 (A)	 n§. gwÝXabmb e_m©

	 (B)	 n§. grVmam_ {_lm

	 (C)	 Ho$`ya ^yfU
	 (D)	 S>m°. Iy~ MÝX ~Kob

	 14.	 Bg amÁ` Ho$ Am`yf {díd{dÚmb` H$m Zm_ {H$ZH$s 

ñ_¥{V _|$ aIm J`m h¡ ?

	 (A)	 n§. Odmhabmb Zohê$

	 (B)	 AQ>b {~hmar ~mOno`r

	 (C)	 n§. XrZX`mb CnmÜ`m`

	 (D)	 n§. a{de§H$a ewŠb
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	 15.	 Revenue Income of minerals of 
Chhattisgarh in the year 2017-18 are 
given below.

		  What is the percentage share of 
major minerals ?

	           Major minerals Rs. 401419.80 lakh

           	Secondary minerals	 Rs. 21388.69 lakh

           auction Rs. 66281.54 lakh

           Penalty Rs. 1124.23 lakh

           Various receipts Rs. 927.11 lakh

	 (A)	 83.73 percent

	 (B)	 82.73 percent

	 (C)	 80.73 percent

	 (D)	 81.73 percent

	 16.	 What is the trend in percentage share 

of electricity in gross state domestic 

product of Chhattisgarh from the 

following data ?

Year	     Percentage share
2014-15	 6.57

2015-16	 8.01

2016-17	 8.57

2017-18	 8.41

2018-19	 8.56	 	
	 (A)	 Increasing
	 (B)	 Decreasing
	 (C)	 Constant
	 (D)	 Erratic

	 15.	 df© 2017-18 _| N>ÎmrgJ‹T> Ho$ I{ZO g§nXm$ H$s 

amOñd Am` ZrMo Xr J`r h¢&

		  _w»` I{ZO H$s à{VeV {hñgm Š`m h¡ ?

_w»` I{ZO é. 401419.80 bmI$

Jm¡U I{ZO é. 21388.69 bmI$

Zrbm_r é. 66281.54 bmI$

AW©XÊS> é. 1124.23 bmI$

{d{dY àmpßV`m± é. 927.11 bmI$$

	 (A)	 83.73 à{VeV 	
	 (B)	 82.73 à{VeV 
	 (C)	 80.73 à{VeV 	

	 (D)	 81.73 à{VeV 

	 16.	 {ZåZ Am§H$‹S>m| go N>ÎmrgJ‹T> Ho$ gH$b Kaoby CËnmX 

_| {dÚwV CËnmXZ Ho$ à{VeV `moJXmZ H$s àd¥{Îm 

Š`m h¡ ? 

		  df© 	 à{VeV {hñgm 

2014-15	 6.57

2015-16	 8.01

2016-17	 8.57

2017-18	 8.41

2018-19	 8.56	 	
	 (A)	 ~‹T>VrhþB©
	 (B)	 KQ>VrhþB©
	 (C)	 pñWa
	 (D)	 CVma-M‹T>md go `wŠV
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	 17.	 How many sites to be developed 
under ram Van Gaman Tourism 
Circuit Development ?

	 (A)	 7	 (B)	 8
	 (C)	 9	 (D)	 3

	 18.	 The meaning of the idiom ‘Karlai 
Matab’ is

	 (A)	 To take rice corn (Lai) in hand

	 (B)	 To mix soil with hand

	 (C)	 In deep suffering or distress

	 (D)	 Tin-plating the utensils

	 19.	 In this state what is performed 
in ‘Mayamauri’ during marriage 
occassion ?

	 (A)	 To put turban to bride-groom

	 (B)	 To prepare dish for matri-pujan

	 (C)	 To send gifts for bride-groom by 
his mother-in-law

	 (D)	 To send gifts to bride by her in-laws

	 20.	 How much is the number of ‘Koytur’ 
species in Bastar ?

	 (A)	 4

	 (B)	 3

	 (C)	 6

	 (D)	 8

	 17.	 am_ dZ J_Z n ©̀Q>Z n[anW {dH$mg Ho$ A§VJ©V {H$VZo 

ñWb {dH${gV {H$E Om aho h¢ ?

	 (A)	 7	 (B)	 8

	 (C)	 9	 (D)	 3	

	 18.	 {ZåZ{b{IV _whmdao H$m AW© ~VbmB©`o& 	

‘H$abB© _mV~’

	 (A)	 hmW _| bmB© boZm

	 (B)	 hmW go {_Å>r> {_bmZm

	 (C)	 AË`§V H$îQ> _|

	 (D)	 ~V©Z _| Q>rZ H$s H$bB© H$amZm

	 19.	 Bg amÁ` _| {ddmh Ho$ Adga na ‘_m`_m¡ar’ añ_ 
_| Š`m H$aVo h¢?

	 (A)	 da H$mo _m¡a (nJ‹‹S>r) ~m§YZm

	 (B)	 _mV¥ nwOZ Ho$ {b`o nH$dmZ ~ZmZm

	 (C)	 dYw H$s _m± Ho$ Ûmam da Ho$ {b`o Cnhma 
^oOZm

	 (D)	 da nj go dYw Ho$ {b`o Cnhma ^oOZm

	 20.	 ~ñVa _| ‘H$mo`Vya’ àOm{V`m| H$s g§»`m 	
{H$VZr h¡  ?

	 (A)	 4

	 (B)	 3

	 (C)	 6

	 (D)	 8



a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

	 -9-	 Set-A

		  	 32201/DS – GD/RCE – E

	 21.	 Bg amÁ` Ho$ ~¡Jm OZOm{V _| ‘nwZ{d©dmh’  H$m Š`m 

Zm_ h¡ ?

	 (A)	 n¡Ry> {ddmh

	 (B)	 I‹S>moZr

	 (C)	 b_goZm

	 (D)	 IMu {ddmh

	 22.	 àXÎm {dYm`Z Ho$ AÝVJ©V {Z`_ ~ZmZo H$s epŠV 

{H$go hmoVr h¡ ?

	 (A)	 {dYm{`H$m	

	 (B)	 H$m`©nm{bH$m

	 (C)	 Ý`m`nm{bH$m	

	 (D)	 Cn`w©ŠV g^r

	 23.	 OZnX n§Mm`V _| {H$g g{_{V Ho$ gXñ` {Zdm©{MV 

Zht {H$E OmVo ?

	 (A)	 gm_mÝ` àemgZ g{_{V

	 (B)	 H¥${f g{_{V

	 (C)	 {ejm g{_{V

	 (D)	 ghH$m[aVm g{_{V

	 21.	 What is the name of the ‘Re-marriage’ 

in Baiga tribe of this state ?

	 (A)	 Paithu Vivah

	 (B)	 Khadoni

	 (C)	 Lamsena

	 (D)	 Kharchi Vivah

	 22.	 Who has the power to make rules 

under delegated legislation ?

	 (A)	 Legislature	

	 (B)	 Executive

	 (C)	 Judiciary	

	 (D)	 All the above

	 23.	 In Janpad Panchayat, members of 

which committee are not elected ?

	 (A)	 General Administration Committee

	 (B)	 Agriculture Committee

	 (C)	 Education Committee

	 (D)	 Co-operation Committee
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	 24.	 {Zdm©MZ Ho$ g§X^© _| H$m¡Z-gm gw_o{bV Zht h¡ ?

	 i.	 {Obm n§Mm`V H$m AÜ`j

	 ii.	 OZnX n§Mm`V H$m AÜ`j

	 iii.	 J«m_ n§Mm`V H$m gan§M

	 iv.	 J«m_ g^m H$m g^mn{V

	 v.	 {Obm n§Mm`V Am¡a OZnX n§Mm`V H$m 

CnmÜ`j

	 vi.	 J«m_ n§Mm`V H$m Cngan§M

	 (A)	 i	 ii

	 (B)	 iii	 iv

	 (C)	 v	 vi

	 (D)	 iii	 vi

	 25.	 {ZåZ Am§H$‹S>mo§ go N>ÎmrgJ‹T> Ho$ {d{Z_m©U joÌ H$s 

d¥{Õ Xa {H$g df© F$UmË_H$ ahr h¡ ?

 df©	  {d{Z_m©U 

	 joÌ H$m ̀ moJXmZ 		

	 (H$amo‹S> é. _|) 	

2013-14	 35889

2014-15	 33134
2015-16	 34025
2016-17	 36602 

2017-18	 38411	        	

	 (A)	 2015-16	 (B)	 2016-17
	 (C)	 2017-18	 (D)	 2014-15

	 24.	 In the context of election which of 
these is unmatched ?

	 i.	 President of zilla panchayat

	 ii.	 President of Janpad panchayat

	 iii.	 Sarpanch of Gram panchayat

	 iv.	 Chairperson of Gram Sabha

	 v.	 Vice President of Zilla Panchayat 
and Janpad Panchayat

	 vi.	 Deputy Sarpanch of Gram 
Panchayat

	 (A)	 i	 ii

	 (B)	 iii	 iv

	 (C)	 v	 vi

	 (D)	 iii	 vi

	 25.	 In which year the growth rate of 
manufacturing sector in Chhattisgarh 
is negative from the following data ?
Year 	 Contribution of
	 manuf. Sector
	 (in Rs. Crore)	  

2013-14	 35889

2014-15	 33134

2015-16	 34025

2016-17	 36602

2017-18	 38411		

	 (A)	 2015-16	 (B)	 2016-17

	 (C)	 2017-18	 (D)	 2014-15
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	 26.	 OmZZo H$s BÀN>m aIZodmbm H$mo H$hVo h§¡ 

	 (A)	 CËgmhr	

	 (B)	 VËna

	 (C)	 {Okmgw	

	 (D)	 {Okmgm

	 27.	 H$Vm© (H$maH$) H$s {d^pŠV h¡

	 (A)	 H$mo	

	 (B)	 go

	 (C)	 _|, na	

	 (D)	 Zo

	 28.	 {h_mb` eãX g§km H$m H$m¡Z-gm àH$ma h¡ ?

	 (A)	 Om{VdmMH$	

	 (B)	 ^mddmMH$

	 (C)	 ì`pŠVdmMH$	

	 (D)	 Ðì`dmMH$

	 29.	 JmJa _| gmJa ^aZm H$m _Vb~ h¡ 

	 (A)	 Wmo‹S>o eãXm| _| ~hþV Hw$N> H$h OmZm	

	 (B)	 JmJa Ho$ Ob go _Q>H$m ^aZm

	 (C)	 gmYZmo§ H$m gXþn`moJ H$aZm	

	 (D)	 A{YH$ _| Wmo‹S>m H$hZm

PART – (2)

	 30.	 ‘ EH$’ eãX H$m ~hþdMZ

	 (A)	 AZoH$	

	 (B)	 AZoH$mo§

	 (C)	 H$B© EH$	

	 (D)	 H$B©

	 31.	 ‘‘ _¢ K‹S>m ^aVm hÿ± ’’ Bg_| {H$g àH$ma H$s {H«$`m h¡ ?

	 (A)	 gH$_©H$	

	 (B)	 AH$_©H$

	 (C)	 àoaUmW©H$	

	 (D)	 Bg_| go H$moB© Zht

	 32.	 BZ_| go H$m¡Z-gm eãX ‘Am±I’ H$m n`m©`dmMr 	
Zht h¡ ?

	 (A)	 ZoÌ	

	 (B)	 Mjw

	 (C)	 Alw	

	 (D)	 bmoMZ

	 33.	 ñdmYrZ H$m g§{Y {dJ«h

	 (A)	 g + AYrZ	

	 (B)	 ñdm + YrZ

	 (C)	 ñdm + AYrZ	

	 (D)	 ñd + AYrZ

	

	

Language (Hindi, Chhattisgarhi, English) 

^mfm ({hÝXr, N>ËVrgJ‹T>r Ed§ A§J«oOr)

Language Hindi

^mfm {hÝXr
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	 34.	 qhXr ‘{Z`wpŠV’ eãX Ho$ {bE N>ÎmrgJ‹T>r eãX h¡

	 (A)	 nXdr	 (B)	 Owamd

	 (C)	 ^aVr	 (D)	 g§Kam

	 35.	 N>ÎmrgJ‹T>r ‘ JmoR>-~mV ’ Ho$ {bE qhXr AZy{XV 
eãX h¡

	 (A)	 {dMma-{d_e©

	 (B)	 n[ag§dmX

	 (C)	 àñVwVrH$aU	

	 (D)	 gw^m{fV

	 36.	 N>ÎmrgJ‹T>r ^mfm H$s dmŠ`-g§aMZm _| {H$g 
ì`mH$a{UH$ H$mo{Q> H$m à^md Zht hmoVm ?

	 (A)	 H$maH$	 (B)	 dMZ

	 (C)	 qbJ	 (D)	 nwéf

	 37.	 N>ÎmrgJ‹T>r ^mfm _| ‘ ~mK ’ nw{ëb§J eãX H$m 
ñÌrqbJ ê$n

	 (A)	 ~Kdm	

	 (B)	 ~K{ZZ

	 (C)	 ~mKZr	

	 (D)	 ~mKr

	 38.	 N>ÎmrgJ‹T>r ^mfm {H$g ^mfm n[adma H$s h¡ ?

	 (A)	 H$mHo$eg ^mfm n[adma	

	 (B)	 ^mamonr` ^mfm n[adma

	 (C)	 Ð{d‹S> ^mfm n[adma	

	 (D)	 Am½Zo` ^mfm n[adma

	 39.	 N>ÎmrgJ‹T>r ^mfm _| {H$g ^mfm Am¡a g§ñH¥${V H$m	
à^md h¡ ?

	 (A)	 C{‹S>`m	 (B)	 ~§Jbm

	 (C)	 JwOamVr	 (D)	 VobJw

	 40.	 ‘ H$hm± {~bmJo _moa YmZ Ho$ H$Q>moam’ N>ÎmrgJ‹T>r 
CnÝ`mg Ho$ boIH$ h¢

	 (A)	 X`me§H$a ewŠb	 (B)	 Ho$`ya ^yfU

	 (C)	 h[a R>mHw$a	 (D)	 bIZ bmb JwßV

	 41.	 ‘ MX¡Zr Jm|Xm : N>ÎmrgJ‹T> H$s EH$ gm§ñH¥${VH$ `mÌm’ 
Zm_H$ N>ÎmrgJ‹T>r J«§W Ho$ g§nmXH$ H$m¡Z h¢ ?

	 (A)	 XþJm© àgmX nmaH$a

	 (B)	 S>m°. S>r. nr. Xoe_wI

	 (C)	 S>m°. naXoer am_ d_m©	

	 (D)	 S>m°. gwaoe Xoe_wI

	 42.	 aVZnwa amO-H${d Jmonmb M§Ð {_l Ûmam {b{IV 
J«§W H$m Š`m Zm_ h¡ ?

	 (A)	 {dH«$_ {dbmg

	 (B)	 àmMrZ N>ÎmrgJ‹T>

	 (C)	 Iy~ V_mem	

	 (D)	 {hVH$m[aUr

	 43.	 ‘N>ÎmrgJ‹T>r ^mfm H$m CX²{dH$mg’ Zm_H$ nwñVH$ Ho$ 
boIH$ h¢

	 (A)	 gË`^m_m Am{S>b	

	 (B)	 am_ Hw$_ma d_m©

	 (C)	 ^mb M§Ð amd V¡b§J	

	 (D)	 ZaoÝÐ Xod d_m©

Language Chhattisgarhi

^mfm N>ËVrgJ‹T>r 
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	 44.	 Choose the most appropriate word/
phrase closest in meaning. 
By Hook or By Crook.

	 (A)	 In a completely insane manner
	 (B)	 In  whatever way one can

	 (C)	 Being very evil and destructive

	 (D)	 To be very tenacious

	 45.	 Choose the correct synonym of the 
word : 

		  Injury
	 (A)	 Wound	
	 (B)	 Abuse

	 (C)	 Damage	

	 (D)	 Offence

	 46.	 Choose the correct preposition : 
Sachin is very good __________ 
cricket.

	 (A)	 of	
	 (B)	 on

	 (C)	 at	

	 (D)	 in

	 47.	 One word substitution.
		  Gregarious
	 (A)	 An animal that lives in a group
	 (B)	 An animal that lives in isolation
	 (C)	 One who moves from one place 

to another	

	 (D)	 None of the above

	 48.	 Fill in the blank with correct degree : 

Srinath bowled ____________ than 

Prasad. (fast)

	 (A)	 fast	

	 (B)	 faster

	 (C)	 fastest	

	 (D)	 None of the above

	 49.	 Find the correct Passive Voice of the 

given Active Voice : 

All trust an honest man.

	 (A)	 An honest man is trusted by all

	 (B)	 Trusted by all is the honest man

	 (C)	 All honest man is trusted	

	 (D)	 None of the above

	 50.	 Fill in the blank with correct word :	

The bus was only __________ 

minute late.

	 (A)	 a little	

	 (B)	 a few

	 (C)	 few	

	 (D)	 many

Language English

^mfm A§J«oOr
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	General Knowledge, Current Affairs, 

Sports,  National–International

	 51.	 Arrange the following monuments 
in chronological sequence of their 
construction.

	 i.	 Taj mahal
	 ii.	 Buland Darwaja
	 iii.	 Diwan-e-Aam of Agra
	 iv.	 Moti Mosque
	 (A)	 ii, iii, i, iv	 (B)	 i, ii, iii, iv
	 (C)	 ii, iv, i, iii	 (D)	 ii, i, iv, iii

	 52.	 Who among the following introduced 
permanent settlement in Bengal ?

	 (A)	 Lord Wellesley
	 (B)	 Lord Cornwallis
	 (C)	 Lord Curzon
	 (D)	 Lord William Bentinck

	 53.	 Which place Mahila Bhakta Sant 
Lalla ded belong ?

	 (A)	 Uttarakhand 	(B)	 Karnataka
	 (C)	 Delhi	 (D)	 Kashmir

	 54.	 Nana Saheb, the leader of 1857 revolution 
was the related of which state ?

	 (A)	 Satara	 (B)	 Nagpur
	 (C)	 Pune	 (D)	 Mysore

	 55.	 In which region pygmys reside ?
	 (A)	 Equatorial region
	 (B)	 Savana region
	 (C)	 Mediterranean region
	 (D)	 Desert region

gm_mÝ` kmZ, g_gm_{`H$ KQ>ZmH«$_,			                         	
IobHy$X, Xoe-{dXoe

	 51.	 {ZåZ{b{IV ñ_maH$m| H$mo CZHo$ {Z_m©U H$s {V{W Ho$ 
H«$_ go O_mB`o &

	 i.	 VmO_hb
	 ii.	 ~wbÝX XadmOm
	 iii.	 AmJao H$m XrdmZo Am_
	 iv.	 _moVr _pñµOX
	 (A)	 ii, iii, i, iv	 (B)	 i, ii, iii, iv
	 (C)	 ii, iv, i, iii	 (D)	 ii, i, iv, iii

	 52.	 {ZåZ{b{IV _| go {H$gZo ~§Jmb _| ñWm`r ~§Xmo~ñV 
àmaå^ H$s Wr ?

	 (A)	 bmS>© doboObr
	 (B)	 bmS>© H$mZ©dm{bg
	 (C)	 bmS>© H$O©Z 
	 (D)	 bmS>© {d{b`_ ~¢{Q>H$

	 53.	 _{hbm ^ŠV g§V bmëbm XoX H$hm± H$s Wr ?

	 (A)	 CÎmamIÊS>	 (B)	 H$Zm©Q>H$ 
	 (C)	 {Xëbr	 (D)	 H$í_ra 

	 54.	 1857 H$s H«$m§{V Ho$ ZoVm ZmZm gmh~ {H$g amÁ` go 
g§~§{YV Wo ?

	 (A)	 gVmam	 (B)	 ZmJnwa
	 (C)	 nwUo	 (D)	 _¡gya

	 55.	 nr½_r {H$g joÌ _| {Zdmg H$aVo h¡§ ?
	 (A)	 ^y_Ü`aoIr` àXoe
	 (B)	 gdmZm àXoe
	 (C)	 ^y_Ü`gmJar` àXoe
	 (D)	 _éñWbr` àXoe

PART – (3)
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	 56.	 In which country is the Appalachian 
mountains located  ?	

	 (A)	 United States of America
	 (B)	 Argentina
	 (C)	 Brazil
	 (D)	 Venezuela

	 57.	 Where is regur soil found ? 	

	 (A)	 Uttar Pradesh

	 (B)	 Punjab

	 (C)	 West Bengal

	 (D)	 Maharashtra

	 58.	 Green revolution started in India 	
	 (A)	 1960-65	
	 (B)	 1965-70
	 (C)	 1970-75	
	 (D)	 1975-80

	 59.	 What is the qualification for election as 
president ?

	 i.	 He should be the citizen of India.
	 ii.	 He has completed the age of 	

35 years.
	 iii.	 He is qualified for election as a 

member of Lok Sabha.
	 iv.	 He shouldn’t hold any office of 

profit
	 (A)	 i

	 (B)	 i, ii

	 (C)	 i, ii, iii

	 (D)	 i, ii, iii, iv

	 56.	 Amßbo{e`Z nd©V {H$g Xoe _| pñWV h¡ ?

	 (A)	 g§`wŠV amÁ` A_arH$m

	 (B)	 AO}ZQ>mBZm
	 (C)	 ~«mOrb
	 (D)	 doZoOwEbm

	 57.	 aoJwa {_Å>r H$hm± nm`m OmVm h¡ ?
	 (A)	 CÎma àXoe	
	 (B)	 n§Om~
	 (C)	 npíM_ ~§Jmb	
	 (D)	 _hmamîQ´>

	 58.	 ^maV _| h[aV H«$mpÝV àma§^ hþAm
	 (A)	 1960-65	
	 (B)	 1965-70
	 (C)	 1970-75	
	 (D)	 1975-80

	 59.	 amîQ´>n{V MwZo OmZo Ho$ {bE `mo½`Vm Š`m h¡ ?

	 i.	 dh ^maV H$m ZmJ[aH$ hmo&	
	 ii.	 dh 35 df© H$s Am`w nyar H$a MwH$m hmo&

	 iii.	 dh bmoH$ g^m H$s gXñ`Vm Ho$ {bE 		
Ah© hmo &

	 iv.	 dh {H$gr bm^ Ho$ nX na Z hmo&

	 (A)	 i

	 (B)	 i, ii

	 (C)	 i, ii, iii

	 (D)	 i, ii, iii, iv
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	 60.	 Who certifies the money bill ?
	 (A)	 Speaker	
	 (B)	 Lok Sabha
	 (C)	 Finance Minister
	 (D)	 Prime Minister

	 61.	 Supposing Rajya Sabha is considering 
a dismissal resolution against Deputy 
Chairman strength of the house is 244. 
3 seats are vacant. At this time 236 
members are present. In the voting 
119 members voted in the favour of the 
resolution. What will be happened ?

	 (A)	 The resolution will be passed

	 (B)	 The resolution will not be passed

	 (C)	 The Chairman will give one vote

	 (D)	 The resolution will be referred to 
Lok Sabha 

	 62.	 Consider the following statement :
	 i.	 Constitution recognised the 

discretionary powers of Governor.
	 ii.	 Which power shall be exercised 

by his discretion, it is decided by 
the Governor.

	 Choose the correct answer :

	 (A)	 i is correct

	 (B)	 ii is correct

	 (C)	 i and ii both are correct

	 (D)	 i and ii both are wrong

	 60.	 YZ {dYo`H$ H$mo H$m¡Z à_m{UV H$aVm h¡ ?
	 (A)	 ñnrH$a 
	 (B)	 bmoH$ g^m
	 (C)	 {dÎm _ÝÌr
	 (D)	 àYmZ _ÝÌr

	 61.	 _mZ br{OE, amÁ` g^m Cn g^mn{V H$s 

nXÀ`w{V àñVmd na {dMma H$a ahr h¡ & gXZ H$s 

gXñ` g§»`m 244 h¡ & 3 ñWmZ [aŠV h¢ & Bg 

g_` gXZ _| 236 gXñ` CnpñWV h¢ & 119 

gXñ`mo§ Zo g§H$ën Ho$ nj _| _VXmZ {H$`m & Š`m 

hmoJm ?

	 (A)	 g§H$ën nm[aV hmo OmEJm

	 (B)	 g§H$ën nm[aV Zht hmoJm

	 (C)	 g^mn{V EH$ _V XoJm

	 (D)	 g§H$ën bmoH$g^m H$mo g§X{^©V {H$`m 
OmEJm

	 62.	 {ZåZ H$WZm| na {dMma H$s{OE :
	 i.	 g§{dYmZ, amÁ`nmb H$s ñd{ddoH$s epŠV`m| 

H$mo _mÝ`Vm XoVm h¡ &
	 ii.	 {H$g epŠV H$m à`moJ ñd{ddoH$ go {H$`m 

OmEJm, `h amÁ`nmb V` H$aVm h¡ &

	 ghr CÎma H$m M`Z H$s{OE :

	 (A)	 i  ghr h¡

	 (B)	 ii ghr h¡

	 (C)	 i Am¡a ii XmoZm| ghr h¢

	 (D)	 i Am¡a ii XmoZm| JbV h¢ 
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	 63.	 Which state in India is in the first place 
for production of coffee ?	

	 (A)	 Tamil Nadu	

	 (B)	 Kerala

	 (C)	 Assam	

	 (D)	 Karnataka

	 64.	 Manganese is most commonly used in 

	 (A)	 Iron and Steel Industry

	 (B)	 Cement Industry

	 (C)	 Jute Industry

	 (D)	 Automobile Industry

	 65.	 Study of one industry is a subject of 

	 (A)	 Micro Economics

	 (B)	 Macro Economics

	 (C)	 Micro and Macro Economics

	 (D)	 None of these

	 66.	 Primary sector of Economy includes
	 I.	 Agriculture
	 II.	 Animal Husbandry
	 III.	 Forestry and Fishery
	 IV.	 Mining and Quarry
	 (A)	 I	
	 (B)	 I + II
	 (C)	 I + II + III	
	 (D)	 I + II + III + IV

	 63.	 ^maV _| H$hdm CËnmXZ _| {H$g amÁ` H$m ñWmZ  
àW_ h¡ ?

	 (A)	 V{_bZmSy>	

	 (B)	 Ho$ab

	 (C)	 Ag_	

	 (D)	 H$Zm©Q>H$

	 64.	 _¢J{ZO H$m g~go A{YH$ Cn`moJ hmoVm h¡ 

	 (A)	 bmohm Am¡a BñnmV CÚmoJ

	 (B)	 gr_oÊQ> CÚmoJ

	 (C)	 OyQ> CÚmoJ

	 (D)	 _moQ>a Jm‹S>r CÚmoJ

	 65.	 EH$ CÚmoJ H$m AÜ``Z {df`dñVw h¡

	 (A)	 _mBH«$mo AW©emñÌ

	 (B)	 _¡H«$mo AW©emñÌ

	 (C)	 _mBH«$mo Ed§ _¡H«$mo AW©emñÌ

	 (D)	 BZ_| go H$moB© Zht

	 66.	 AW©ì`dñWm Ho$ àmW{_H$ joÌ _| em{_b h¡
	 I.	 H¥${f

	 II.	 newnmbZ
	 III.	 dm{ZH$s Ed§ _Ëñ`
	 IV.	 IZZ Ed§ CËIZZ
	 (A)	 I	
	 (B)	 I + II
	 (C)	 I + II + III	
	 (D)	 I + II + III + IV
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	 67.	 ^maV _| “ñWmZr` CËnmX H$mo ì`mdgm{`H$ ~ZmZo” 
H$m  Zmam {H$gZo {X`m h¡ ?

	 (A)	 lr ^ynoe ~Kob, _w»`_§Ìr

	 (B)	 lr_Vr {Z_©bm grVma_Z, {dÎm _§Ìr

	 (C)	 lr ZaoÝÐ_moXr, àYmZ_§Ìr
	 (D)	 lr Am{XË`ZmW `moJr, _w»`_§Ìr (C.à.)

	 68.	 ‘^maV H$m Ho$ÝÐr` ~¢H$’ {H$go H$hm OmVm h¡ ?

	 (A)	 ñQ>oQ> ~¢H$ Am°\$ B§{S>`m

	 (B)	 ~¢H$ Am°\$ B§{S>`m
	 (C)	 [aOd© ~¢H$ Am°\$ B§{S>`m

	 (D)	 `y{Z`Z ~¢H$ Am°\$ B§{S>`m

	 69.	 _wÐmñ\$s{V H$s Ad{Y _| Š`m hmoVm h¡ ?

	 (A)	 dñVwAm| H$s H$s_Vo§ ~‹T>Vr h¡

	 (B)	 dñVwAm| H$s H$s_Vo§ {JaVr h¡

	 (C)	 _wÐ>m H$m  _yë` ~‹T>Vm h¡

	 (D)	 _wÐ>m H$m _yë` pñWa ahVm h¡ 

	 70.	 “_mZd {dH$mg gyMH$m§H$” H$m g§~§Y h¡

	 (A)	 gm_m{OH$ {dH$mg
	 (B)	 Am{W©H$ {dH$mg
	 (C)	 e¡{jH$ Ed§ ñdmñÏ` {dH$mg

	 (D)	 Cn`w©ŠV g^r

	 67.	 Who has given the slogan of Local to 
Vocal in India ? 	

	 (A)	 Shri. Bhupesh Baghel, Chief 
Minister

	 (B)	 Mrs. Nirmala Sita Raman, 
Finance Minister

	 (C)	 Shri. Narendra Modi, P.M.
	 (D)	 Shri. Aditya Nath Yogi, C.M. (U.P.)

	 68.	 Which is known as ‘Central Bank of 
India’ ?	

	 (A)	 State Bank of India

	 (B)	 Bank of India

	 (C)	 Reserve Bank of India

	 (D)	 Union Bank of India

	 69.	 What happens during inflation ? 	

	 (A)	 Prices of Commodities rise

	 (B)	 Prices of Commodities decline

	 (C)	 Value of money increases

	 (D)	 Value of Money is constant

	 70.	 “Human Development Index” (HDI) is 
related with 	

	 (A)	 Social Development
	 (B)	 Economic Development
	 (C)	 Educational and  Health 

Development
	 (D)	 All the above
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	 71.	 What is the official name of Bilaspur 

airport ?

	 (A)	 Minimata Airport

	 (B)	 Bilasa Devi Kevat Airport

	 (C)	 Veer Narayan Singh Airport

	 (D)	 Maa Danteshwari Airport

	 72.	 Who amongst the following is a writer 

of novel ‘Bhulan Kanda’ ?

	 (A)	 Sanjeev Bakhsi

	 (B)	 Manoj Verma

	 (C)	 Vinod Kumar Shukla

	 (D)	 Shyam Lal Chaturvedi

	 73.	 In which of the following date India 
celebrates Constitution day ?

	 (A)	 26 January

	 (B)	 15 August

	 (C)	 26 November

	 (D)	 1 November

	 74.	 Group captain Abhinandan is awarded 
with which of the following award ?

	 (A)	 Veer Chakra

	 (B)	 Shaurya Chakra

	 (C)	 Mahavir Chakra

	 (D)	 Kirti Chakra

	 71.	 {~bmgnwa Ho$ hdmB© AÈ>o H$m A{YH$m[aH$ Zm_  

Š`m h¡ ?

	 (A)	 {_Zr_mVm hdmB© AÈ>m

	 (B)	 {~bmgm Xodr Ho$dQ> hdmB© AÈ>m

	 (C)	 dra Zmam`U qgh hdmB© AÈ>m

	 (D)	 _m± X§Voídar hdmB© AÈ>m

	 72.	 ‘^ybZ H$m§Xm’ CnÝ`mg Ho$ boIH$ {ZåZ _| go 		

H$m¡Z h¡ ?

	 (A)	 g§Ord ~Šer

	 (B)	 _ZmoO d_m©

	 (C)	 {dZmoX Hw$_ma ewŠbm

	 (D)	 í`m_bmb MVwdo©Xr

	 73.	 {ZåZ _| go {H$g {V{W H$mo ^maV g§{dYmZ {Xdg 
_ZmVm h¡  ?

	 (A)	 26 OZdar

	 (B)	 15 AJñV

	 (C)	 26 Zd§~a	

	 (D)	 1 Zd§~a

	 74.	 J«yn Ho$ßQ>Z A{^Z§XZ H$mo {ZåZ _| go H$m¡Z-go nwañH$ma 

go gå_m{ZV {H$`m J`m ?

	 (A)	 dra MH«$	

	 (B)	 em¡`© MH«$

	 (C)	 _hmdra MH«$	

	 (D)	 H$s{V© MH«$
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	 75.	 In Jewar, Gautam Buddha Nagar, 
Uttar Pradesh, the foundation stone 
of which of the following is laid ?

	 (A)	 IT Industry
	 (B)	 Airport

	 (C)	 Research center

	 (D)	 Metro Rail

	 76.	 e Amrit portal in India is started 
to generate which of the following 
awareness ?

	 (A)	 Covid security
	 (B)	 Digital education

	 (C)	 Electric vehicle

	 (D)	 Cleanliness

	 77.	 Who established the ‘Sharda Sadan’ 
for widowed women ?

	 (A)	 Pandita Rama Bai
	 (B)	 Jyotiba Phule
	 (C)	 Keshavchandra Sen
	 (D)	 Raja Ram Mohan Rai

	 78.	 Among the states conquered by 
Samudragupta following state do not 
belong to the Dakshina Path.

	 (A)	 Kotkul	

	 (B)	 Kaushal

	 (C)	 Pishtpur	

	 (D)	 Awmukt

	 75.	 Oodma, Jm¡V_ ~wÕ ZJa, CÎmaàXoe _| {ZåZ _| go 

{H$gH$s AmYma{ebm aIr JB© h¡  ?

	 (A)	 AmB©. Q>r. CÚmoJ	

	 (B)	 hdmB© AÈ>m

	 (C)	 AZwg§YmZ Ho$ÝÐ	

	 (D)	 _oQ´>mo aob

	 76.	 ^maV _| B© A_¥V nmoQ>©b {ZåZ _| go H$m¡Z-gr 

OmJê$H$Vm Ho$ {bE àma§^ {H$`m J`m h¡  ?

	 (A)	 H$mo{dS> gwajm	

	 (B)	 {S>{OQ>b {ejm

	 (C)	 BbopŠQ´>H$ dmhZ	

	 (D)	 ñdÀN>Vm

	 77.	 {dYdm _{hbmAm| Ho$ {b ò ‘emaXm gXZ’ H$s ñWmnZm 
{H$gZo {H$`m Wm ?

	 (A)	 n§{S>Vm a_m ~mB©
	 (B)	 Á`mo{V~m \w$bo
	 (C)	 Ho$edMÝÐ goZ
	 (D)	 amOm am_ _mohZ am`

	 78.	 g_wÐJwßV Ûmam OrVo J`o amÁ`m| _| {ZåZ{b{IV 

amÁ` X{jUm nW H$m Zht h¡ &

	 (A)	 H$moVHw$b	

	 (B)	 H$m¡eb

	 (C)	 {nñQ>nwa	

	 (D)	 Ad_wŠV
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	 79.	 Which of the following medieval poet 
called himself ‘Tota-E-Hind’ ?

	 (A)	 Amir khusro	

	 (B)	 Raskhan

	 (C)	 Abdul Rahim Khane Khan

	 (D)	 Surdas

	 80.	 Match the following events with their 
dates :

	 a.	 Kera Satyagrah	 i.	 1920
	 b.	 Champaran Satyagrah	ii.	 1921

	 c.	 Gandhiji sacrifice his	 iii.	 1917
		  official title
	 d.	 Boycott of Prince of 	 iv.	 1918
		  Wales	
	 a	 b	 c	 d
	 (A)	 iii	 iv	 ii	 i

	 (B)	 i	 iv	 ii	 iii

	 (C)	 iv	 iii	 i	 ii

	 (D)		   None of the above

	 81.	 Tedros Ghebreyesus is director 
General of which of the following 
organization ? 

	 (A)	 W.H.O.	

	 (B)	 UNESCO

	 (C)	 F.A.O.

	 (D)	 U.N.O.

	 79.	 {ZåZ{b{IV _| go {H$g _Ü`H$mbrZ H${d Zo AnZo 

H$mo ‘VmoVm`-E-{hÝX’ H$hm Wm ?

	 (A)	 A_ra Iwgamo	

	 (B)	 agImZ

	 (C)	 AãXþb ahr_ ImZo ImZ

	 (D)	 gyaXmg

	 80.	 {ZåZ{b{IV KQ>ZmAm| H$mo$ CZH$s$ {d{Y go gw_o{bV 

H$s{O`o :

	 a.	 Io‹S> gË`mJ«h	 i.	 1920

	 b.	 MånmaU> gË`mJ«h	 ii.	 1921
	 c.	 Jm§YrOr H$m gaH$mar	 iii.	 1917

		  > CnmYr Ë`mJ
	 d.	 {àÝg Am°\$ doëg	 iv.	 1918

> 		  H$m ~{hîH$ma	
	 a	 b	 c	 d
	 (A)	 iii	 iv	 ii	 i

	 (B)	 i	 iv	 ii	 iii

	 (C)	 iv	 iii	 i	 ii

	 (D)	   CnamoŠV _| go H$moB© Zht

	 81.	 Q>oS´>mog Ko~«o`gg {ZåZ _| go {H$g g§JR>Z Ho$ 

_hm{ZXoeH$ h¡  ?

	 (A)	 S>ãë`y.EM.Amo.

	 (B)	 `wZoñH$mo

	 (C)	 E\$.E.Amo.	

	 (D)	 `y.EZ.Amo.
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	 82.	 Which of the following is a group of 4 
member countries of QUAD ?

	 (A)	 India, America, Australia, Britain

	 (B)	 India, America, Australia, France

	 (C)	 India, America, Australia, 
Germany

	 (D)	 India, America, Australia, Japan

	 83.	 Vivek Sagar Prasad is associated with 

which of the following sports ?

	 (A)	 Football	

	 (B)	 Cricket

	 (C)	 Hockey	

	 (D)	 Badminton

	 84.	 Which country is host of 2022 ICC  

T-20 World cup ?

	 (A)	 Australia	

	 (B)	 England

	 (C)	 New zealand	

	 (D)	 India

	 85.	 When was the Damodar valley project 
formed ?

	 (A)	 1948	

	 (B)	 1950
	 (C)	 1952	

	 (D)	 1955

	 82.	 ŠdmS> Ho$ Mma gXñ` Xoem| H$m g_yh {ZåZ _| go 
H$m¡Z-gm h¡  ?

	 (A)	 ^maV, A_o[aH$m, AmñQ´>o{b`m, {~«Q>oZ

	 (B)	 ^maV, A_o[aH$m, AmñQ´>o{b`m, \«$mÝg
	 (C)	 ^maV, A_o[aH$m, AmñQ´>o{b`m, O_©Zr

	 (D)	 ^maV, A_o[aH$m, AmñQ´>o{b`m, OmnmZ

	 83.	 {ddoH$ gmJa àgmX H$m g§~§Y {ZåZ _| go {H$g Iob 

go h¡  ?

	 (A)	 \w$Q>~mb	

	 (B)	 {H«$Ho$Q>

	 (C)	 h>m°H$s	

	 (D)	 ~oS>q_Q>Z

	 84.	 2022 AmB©.gr.gr. Q>r-20 {díd H$n H$m _oO~mZ 

Xoe H$m¡Z-gm h¡ ?

	 (A)	 AmñQ´>o{b`m	

	 (B)	 B§½b|S>

	 (C)	 Ý`yOrb|S>	

	 (D)	 ^maV

	 85.	 Xm_moXa KmQ>r n[a`moOZm H$~ ~Zm ?

	 (A)	 1948	

	 (B)	 1950
	 (C)	 1952	

	 (D)	 1955
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	 86.	 ZmJ\$Zr {H$g àH$ma Ho$ dZ h¡ ?

	 (A)	 CîU H${Q>~§Yr` gXm~hma dZ 

	 (B)	 CîU H${Q>~§Yr` nVP‹S> dZ

	 (C)	 CîU H${Q>~§Yr` ewîH$ dZ
	 (D)	 _éñWbr` dZ

	 87.	 _hmZXr ~o{gZ _| bJ^J {H$VZo à{VeV joÌ _| 
H$S>ßnm e¡b g_yh H$m {dñVma h¡ ?

	 (A)	 40	 (B)	 50

	 (C)	 55	 (D)	 60

	 88.	 ~{_ªK_ bm¡h> A`ñH$ {H$g Xoe _| pñWV h¡ ?

	 (A)	 ~«mOrb

	 (B)	 g§`wŠV amÁ` A_arH$m

	 (C)	 ê$g

	 (D)	 \«$m§g

	 89.	 ñdV§Ì ^maV _| 2011 H$s OZJUZm H$m H«$_  
Š`m h¡ ?

	 (A)	 nm§Mdr	
	 (B)	 N>R>dr
	 (C)	 gmVdr	
	 (D)	 AmR>dr

	 90.	 amîQ´>r` Am` g§~§{YV h¡
	 (A)	 gH$b Kaoby CËnmX
	 (B)	 {dewÕ Kaoby CËnmX
	 (C)	 gH$b amîQ´>r` Am`
	 (D)	 {dewÕ amîQ´>r` Am`

	 86.	 What kind of forest is Nagfani ?	
	 (A)	 Tropical evergreen forests

	 (B)	 Tropical deciduous forests
	 (C)	 Tropical dry forests
	 (D)	 Desert forests

	 87.	 Approximate percentage of cuddapah 
rocks in mahanadi basin was	

	 (A)	 40	 (B)	 50

	 (C)	 55	 (D)	 60

	 88.	 In which country is Birmingham iron 
ore located ?	

	 (A)	 Brazil

	 (B)	 United States of America

	 (C)	 Russia

	 (D)	 France

	 89.	 What is the rank of 2011 census of 
population in independent India ? 

	 (A)	 Fifth	

	 (B)	 Sixth
	 (C)	 Seventh	
	 (D)	 Eighth

	 90.	 National Income is related with 	
	 (A)	 Gross Domestic Product
	 (B)	 Net Domestic Product
	 (C)	 Gross National Income
	 (D)	 Net National Income
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	 91.	 ^maV _| H$m¡Z-gr n§Mdfu`$ `moOZm Mb ahr h¡ ?

	 (A)	 Xgdt n§Mdfu`$ `moOZm
	 (B)	 ½`mahdr§ n§Mdfu`$ `moOZm

	 (C)	 ~amhdr§ n§Mdfu`$ `moOZm
	 (D)	 BZ_| go H$moB© Zht

	 92.	 {ZåZ{b{IV _| go {H$g {IbmS>r Zo EH$ Q>oñQ> _¡M 

_| g^r 10 {dHo$Q> Zht {bE h¡ ?

	 (A)	 [O_ boH$a
	 (B)	 A{Zb Hw$å~bo
	 (C)	 EOmO `wZwg nQ>ob
	 (D)	 eoZ dmZ©

	 93.	 O~ EH$ {dYo`H$ amÁ` {dYmZ _ÊS>b go nm[aV 
hmoH$a amÁ`nmb Ho$ g_j àñVwV {H$`m OmVm h¡, 
Vmo amÁ`nmb Š`m H$aoJm ?

	 i.	 dh {dYo`H$ na AZw_{V Xo gH$Vm h¡ &

	 ii.	 dh {dYo`H$ na AZw_{V amoH$ gH$Vm h¡ &

	 iii.	 dh EH$ gÝXoe Ho$ gmW {dYo`H$ H$mo amÁ` 
{dYmZ _ÊS>b _| dmng ^oO gH$Vm h¡&

	 iv.	 dh {dYò H$ H$mo amîQ´>n{V Ho$ {dMmamW© gwa{jV 
H$a gH$Vm h¡ &

	 (A)	 i	 (B)	 i, ii

	 (C)	 i, ii, iii	 (D)	 i, ii, iii, iv

	 94.	 qgYw gä`Vm go g§~§{YV {ZåZ{b{IV nwamñWb 
h[a`mUm amÁ` _| pñWV h¡ &

	 (A)	 bmoWb	 (B)	 amon‹S>
	 (C)	 amIrJ‹T>r	 (D)	 H$mbr~§Jm

	 91.	 Which five year plan is continued in 
India ? 	

	 (A)	 Tenth Five Year Plan

	 (B)	 Eleventh Five Year Plan

	 (C)	 Twelfth Five Year Plan

	 (D)	 None of these

	 92.	 Which of the following player has 
not taken all the 10 wickets in a test 
match ?

	 (A)	 Jim Laker
	 (B)	 Anil Kumble
	 (C)	 Ajaj Yunus Patel
	 (D)	 Shane Warne

	 93.	 When a bill is passed by the State 
Legislative Assembly and presented 
before the Governor, what will do the 
Governor ?

	 i.	 He can assent the bill.

	 ii.	 He can withhold assent the bill.

	 iii.	 He can return the bill with a message 
to the State Legislative Assembly.

	 iv.	 He can reserve the bill for the 
consideration of the president.

	 (A)	 i	 (B)	 i, ii

	 (C)	 i, ii, iii	 (D)	 i, ii, iii, iv

	 94.	 Which of the following archeological 
sites relating to the Indus civilization 
is situated in the State of Haryana ?

	 (A)	 Lothal	 (B)	 Ropad
	 (C)	 Rakhigari 	 (D)	 Kalibanga
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	 95.	 O¡Z Y_© Ho$ AZwgma {ZåZ{b{IV {gÕm§V {ÌaËZ H$m 
Zht h¡ &

	 (A)	 gå`H$ Xe©Z

	 (B)	 gå`H$ gyÌ

	 (C)	 gå`H$ M[aÌ

	 (D)	 gå`H$ kmZ

	 96.	 amîQ´>n{V Ho$ {déÕ _hm{^`moJ àñVmd Ho$ {df` _| 
ghr Š`m h¡ ?

	 i.	 `h g§gX Ho$ {H$gr ̂ r gXZ go àmaå^ {H$`m 
Om gH$Vm h¡ &

	 ii.	 `h g§gX Ho$ XmoZmo§ gXZm| go 2/3 ~hþ_V go 
nm[aV hmoZm Mm{hE & 

	 iii.	 `h g§gX Ho$ XmoZm| gXZmo§ H$s Hw$b gXñ` 
g§»`m Ho$ 2/3 ~hþ_V go nm[aV hmoZm 
Mm{hE &

	 iv.	 `h g§gX Ho$ XmoZm| gXZmo§ go Hw$b gXñ` 
g§»`m Ho$ ~hþ_V Am¡a CnpñWV VWm _VXmZ 
H$aZo dmbo gXñ`m| Ho$ 2/3 ~hþ_V go nm[aV 
hmoZm Mm{hE &

	 (A)	 i, ii	 (B)	 ii, iv
	 (C)	 i, iii	 (D)	 i, iv 

	 97.	 {ZåZ _| go {H$go doVZ Zht {X`m OmVm ?

	 (A)	 amîQ´>n{V
	 (B)	 Cn amîQ´>n{V
	 (C)	 ñnrH$a
	 (D)	 amÁ` g^m Ho$ Zm{_V gXñ`

	 95.	 According to Jainism the following 
principal is not for Triratna.

	 (A)	 Samyak Darshan

	 (B)	 Samyak Sutra

	 (C)	 Samyak Charitra

	 (D)	 Samyak Gyan

	 96.	 What is correct about the impeachment 
resolution against President ?

	 i.	 It can be initiated from any house 
of Parliament.

	 ii.	 It should be passed by 2/3 majority 
from the both houses of Parliament.

	 iii.	 It should be passed by 2/3 majority 
of the total membership of the 
both houses of Parliament.

	 iv.	 It should be passed by a majority 
of total membership and by a 
majority of not less than 2/3 of the 
members present and voting by 
the both houses of Parliament.

	 (A)	 i, ii	 (B)	 ii, iv
	 (C)	 i, iii	 (D)	 i, iv

	 97.	 Which of the following doesn’t get 
salary ?

	 (A)	 President
 	 (B)	 Vice President
	 (C)	 Speaker
	 (D)	 Nominated members of 
		  Rajya Sabha



	 -26-	 Set-A

a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

		 32201/DS – GD/RCE – E

	 98.	 What is correct about single 
transferable voting system of 
proportional representation system ?

	 i.	 Every voter votes to all the 
candidates contesting election.

	 ii.	 Voters vote by order of preference.
	 iii.	 It is compulsory to vote all the 

candidates.
	 iv.	 It is not compulsory to vote all 

the candidates.
	 (A)	 i, ii
	 (B)	 i, iii
	 (C)	 i, ii, iii
	 (D)	 i, ii, iv

	 99.	 Consider the following statements :
	 i.	 Right to property is a Constitutional 

Right.

	 ii.	 It can be amended by ordinary law 
making procedure.

	 Choose the correct answer :

	 (A)	 i is correct
	 (B)	 ii is correct
	 (C)	 i and ii both are correct
	 (D)	 i and ii both are wrong

	100.	 According to Constitution what is the 
sequence of the following rights ?

	 i.	 To assemble peacefully.
	 ii.	 To form association.
	 iii.	 Freedom of speech.
	 iv.	 To move freely.
	 (A)	 i, iii, iv, ii	 (B)	 ii, iv, i, iii
	 (C)	 iii, i, ii, iv	 (D)	 iii, ii, iv, i

	 98.	 AZwnm{VH$ à{V{Z{YËd àUmbr Ho$ EH$b g§H«$_Ur` 
_V nÕ{V Ho$ {df` _| ghr Š`m h¡ ?

	 i.	 àË`oH$ _VXmVm MwZmd b‹S>Zo dmbo àË`oH$ 
Aä`Wu H$mo _V XoVm h¡ &

	 ii.	 _VXmVm dar`Vm Ho$ H«$_ _| _V XoVm h¡ &
	 iii.	 àË`oH$ Aä`Wu H$mo _V XoZm A{Zdm`© h¡ &

	 iv.	 àË òH$ Aä`Wu H$mo _V XoZm A{Zdm ©̀ Zht h¡ &

	 (A)	 i, ii
	 (B)	 i, iii
	 (C)	 i, ii, iii
	 (D)	 i, ii, iv

	 99.	 {ZåZ H$WZm| na {dMma H$s{OE :
	 i.	 gån{Îm H$m A{YH$ma EH$ g§{dYm{ZH$ 

A{YH$ma h¡ &
	 ii.	 Bgo gmYmaU H$mZyZ ~ZmZo H$s à{H«$`m go 

g§emo{YV {H$`m Om gH$Vm h¡ &
	 ghr CÎma H$m M`Z H$s{OE :

	 (A)	 i  ghr h¡
	 (B)	 ii ghr h¡
	 (C)	 i Am¡a ii XmoZm| ghr h¢
	 (D)	 i Am¡a ii XmoZm| JbV h¢

	100.	 g§{dYmZ Ho$ AZwgma {ZåZm§{H$V A{YH$mam| H$m H«$_ 
Š`m h¡ ?

	 i.	 empÝVnyU© gå_obZ
	 ii.	 g§K {Z_m©U
	 iii.	 dmH²$ ñdmV§Í`
	 iv.	 ñdVÝÌ {dMaU
	 (A)	 i, iii, iv, ii	 (B)	 ii, iv, i, iii

	 (C)	 iii, i, ii, iv	 (D)	 iii, ii, iv, i
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Mathematics and general science

	101.	 In a Quadrilateral ABCD, if 

∠ = ∠A B
1
2

, ∠ = ∠ +b C 12and 
		  ∠ = ∠C D2 , then the value of 

∠ + ∠A D  will be
	 (A)	 183°	 (B)	 177°
	 (C)	 118°	 (D)	 120°

	102.	 In the given figure, three circles with 
centres A, B, C respectively are given. 
They touch one-another externally at 
P, Q, R. If AB = 5 cm, BC = 7 cm and 
CA = 6 cm. Then the radius of circle 
with centre A will be

		
                             figure
	 (A)	 1.5 cm	 (B)	 2 cm
	 (C)	 2.5 cm	 (D)	 3 cm

	103.	 If absolute refractive index of water is 
1.33, then the velocity of light in water 
will be

	 (A)	 3 × 108 ms–1

	 (B)	 2.75 × 108 ms–1

	 (C)	 1.25 × 108 ms–1

	 (D)	 2.25 × 108 ms–1

J{UV Ed§ gm_mÝ` {dkmZ

	101.	 ABCD MVw^w©O _| ∠ = ∠A B
1
2

,

		  ∠ = ∠ +b C 12  VWm ∠ = ∠C D2  hmo, Vmo 

∠ + ∠A D   H$m _mZ Š`m hmoJm ?

	 (A)	 183°	 (B)	 177°
	 (C)	 118°	 (D)	 120°

	102.	 g§b½Z {MÌ _| VrZ d¥Îm {OZHo$ Ho$ÝÐ H«$_e: 		
A, B VWm C h¡, àË`oH$ EH$-Xÿgao H$mo H«$_e: 
P, Q, R na ñne© H$aVo h¡§ & `{X AB = 5 go_r.,  
BC = 7 go_r. VWm CA = 6  go_r., Vmo Ho$ÝÐ 	
A dmbo d¥Îm H$s {ÌÁ`m {H$VZr h¡ ?

		
                            {MÌ
	 (A)	 1.5 go_r.	 (B)	 2 go_r.
	 (C)	 2.5 go_r.	 (D)	 3 go_r.

	103.	 Ob H$m na_ AndV©Zm§H$ 1.33 h¡, Vmo Ob _| 

àH$me H$m doJ hmoJm

	 (A)	 3 × 108 _rQ>a goHo$ÊS>–1

	 (B)	 2.75 × 108 _rQ>a goHo$ÊS>–1

	 (C)	 1.25 × 108 _rQ>a goHo$ÊS>–1

	 (D)	 2.25 × 108 _rQ>a goHo$ÊS>–1

PART – (4)
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	104.	 Two fans of 80 watt are running 		
10 hours daily. If cost of electricity 
is Rs. 4.00 per unit, then amount of 
electric bill for the month of 30 days 
will be

	 (A)	 Rs. 150.00	 (B)	 Rs. 182.00

	 (C)	 Rs. 192.00	 (D)	 Rs. 196.00

	105.	 Which one is plant hormone ?

	 (A)	 Insulin

	 (B)	 Thyroxine

	 (C)	 Astrogen

	 (D)	 Cytokinin

	106.	 The standard molar volume of oxygen 
gas at STP is 22.4 L mol–1. The density 
of oxygen at STP is

	 (A)	 0.429 g L–1

	 (B)	 1.429 g L–1

	 (C)	 16.00 g L–1

	 (D)	 8.00 g L–1

	107.	 If 2
1

1
1

1
1
4

= +
+

+

x , then value of x is 
	
	

	 (A)	 9
13

	 (B)	
13
9

	

	 (C)	 7
13

	 (D)	 13
7

	104.	 80 dmQ> Ho$ Xmo n§Io à{V {XZ 10 K§Q>o Mb aho h¢ & 

`{X {dÚwV InV H$s Xa é. 4.00 à{V `y{ZQ> hmo, 

Vmo 30 {XZ ̀ wŠV _mh Ho$ {b`o {dÚwV Xo`H$ H$s am{e 

hmoJr

	 (A)	 é. 150.00	 (B)	 é. 182.00

	 (C)	 é. 192.00	 (D)	 é. 196.00

	105.	 H$m¡Z-gm EH$ nmXn hm_m}Z h¡ ?

	 (A)	 BÝgw{bZ	

	 (B)	 Wm`amoŠgrZ

	 (C)	 EñQ´>moOoZ	

	 (D)	 gmBQ>moH$mB©{ZZ

	106.	 STP na AmŠgrOZ J¡g H$m à_m{UH$ _moba 

Am`VZ 22.4 L mol–1  h¡ & STP na AmŠgrOZ 

H$m KZËd h¡

	 (A)	 0.429 g L–1	

	 (B)	 1.429 g L–1

	 (C)	 16.00 g L–1	

	 (D)	 8.00 g L–1

	107.	 `{X 2
1

1
1

1
1
4

= +
+

+

x h¡, Vmo x H$m _mZ hmoJm

	 (A)	 9
13

	 (B)	
13
9

	

	 (C)	 7
13

	 (D)	 13
7
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	108.	 The H.C.F. of two numbers is 6. Which 
one of the following can never be their 
L.C.M. ?

	 (A)	 24	 (B)	 36
	 (C)	 50	 (D)	 54

	109.	 The average of five consecutive even 
numbers is 14. What is the difference 
between the highest and lowest 
numbers ?

	 (A)	 6	 (B)	 8
	 (C)	 10	 (D)	 12

	110.	 If speed of 4
1
3

m/s is converted to 
km/h, then it would be

	 (A)	 15
5
3

	 (B)	 15
3
5

	 (C)	 17
5
3 	 (D)	 17

3
5

	111.	 If 3x = 4y, then the value of 8 1
y
x
−






 is

	 (A)	
29
3 	 (B)	 5

	 (C)	 4
3

	 (D)	 3
4

112.		 The value of k for which the system of 
equations 2x+y = 4, kx+3y = 15 has no 
solution, is

	 (A)	 3	 (B)	 –3

	 (C)	 –6	 (D)	 6

	108.	 Xmo g§»`mAm| H$m _.g. 6 h¡ & BZ_| go H$m¡Z-gm 
CZH$m b.g. H$^r Zhr§ hmo gH$Vm ?

	 (A)	 24	 (B)	 36
	 (C)	 50	 (D)	 54

	109.	 5 bJmVma g_ g§»`mAm| H$m Am¡gV 14 h¡, Vmo CZ_| 
go g~go ~‹S>r Ed§ g~go N>moQ>r g§»`mAm| H$m A§Va 
Š`m h¡ ?

	 (A)	 6	 (B)	 8
	 (C)	 10	 (D)	 12

	110.	 `{X Mmb 4
1
3

_r./go. H$mo {H$._r./K§Q>m _| ~Xbm 

Om`o, Vmo BgH$m _mZ hmoJm

	 (A)	 15
5
3

	 (B)	 15
3
5

	 (C)	 17
5
3 	 (D)	 17

3
5

	111.	 `{X 3x = 4y h¡, Vmo 8 1
y
x
−






 H$m _mZ hmoJm

	 (A)	
29
3 	 (B)	 5

	 (C)	 4
3

	 (D)	 3
4

	112.	 k H$m dh _mZ {OgHo$ {bE g_rH$aU {ZH$m`  
2x+y = 4, kx+3y = 15 H$m H$moB© hb Zht h¡, 
hmoJm

	 (A)	 3	 (B)	 –3

	 (C)	 –6	 (D)	 6
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	113.	 The denominator of a fraction is 2 more 
than its numerator. If the numerator is 
increased by 3 and the denominator 
is decreased by 4, we obtain 2. The 
fraction is 

	 (A)	
7
9

	 (B)	
5
7

	 (C)	 3
5

	 (D)	 9
11

	114.	 Average age of A, B and C is 20 years. 
If the average age of A and B is 		
19 years, then the age of C will be 

	 (A)	 20 years	 (B)	 21 years	

	 (C)	 22 years	 (D)	 24 years

	115.	 Marked prices of any shirt and pant 
are in the ratio 1 : 2.The shopkeeper 
allows a discount of 40% on shirt and 
a 30% discount on the purchase of 
both shirt and pant. Then what is the 
percent discount on pant ?

	 (A)	 15%	 (B)	 20%	
	 (C)	 25%	 (D)	 30%	

	116.	 A confectioner sells his items on 
cost price only but weighs every item 
900 gms instead of 1 kg. Then his 
profit percentage will be 

	 (A)	 11
1
9

%		  (B)	 11
1
3 %

	 (C)	 11%		  (D)	 11
2
3 %

	113.	 EH$ {^ÝZ H$m ha CgHo$ A§e go 2 A{YH$ h¡ & `{X 
A§e _| 3 Omo‹S>>m OmVm h¡ VWm ha _| 4 KQ>m`m OmVm 
h¡, Vmo 2 àmßV hmoVm h¡ & Vmo {^ÝZ h¡ 

	 (A)	
7
9

	 (B)	
5
7

	 (C)	 3
5

	 (D)	 9
11

	114.	 A, B VWm C H$s Am¡gV Am`w 20 df© h¡ & `{X  
A VWm B H$s Am¡gV Am`w 19 df© hmo, Vmo C H$s 
Am`w {H$VZr hmoJr ?

	 (A)	 20 df©	 (B)	 21 df©

	 (C)	 22 df©	 (D)	 24 df©

	115.	 {H$gr H$_rO VWm n¢Q> Ho$ A§{H$V _yë` 1 : 2 Ho$ 

AZwnmV _| h¡ & XþH$mZXma H$_rO na 40% H$s 

Ny>Q> XoVm h¡ VWm H$_rO Am¡a n¢Q> XmoZm| H$mo {_bmH$a 

30% H$s Ny>Q>> XoVm h¡, Vmo n¢Q> na Xr JB© Ny>Q>> {H$VZo 

à{VeV h¡ ?
	 (A)	 15%	 (B)	 20%	

	 (C)	 25%	 (D)	 30%	

	116.	 EH$ hbdmB© AnZo gm_mZ H$mo H«$`_yë` na hr ~oMVm 

h¡ & na§Vw dh 1 {H$J«m Ho$ ñWmZ na 900 J«m_ VmobVm 

h¡, Vmo CgH$m bm^ à{VeV hmoJm 

	 (A)	 11
1
9

%	 (B)	 11
1
3 %

	 (C)	 11%	 (D)	 11
2
3 %
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	117.	 {X ò J ò {MÌ _| AB||CD `{X ∠ABO = 100° 
VWm ∠OCD  = 115° Vmo ∠bOC  H$m _mZ 
Š`m hmoJm ?

	 (A)	 80°
	 (B)	 65°
	 (C)	 35°
	 (D)	 45°

	118.	 {H$gr {Ì^wO H$s ^wOmAm| H$s bå~mB© H«$_e:  

a, b, c h¡& `{X a2 + b2 + c2 = ab + bc + ac 

Vmo dh {Ì^wO {ZåZ _| go H$m¡Z-gm h¡ ?

	 (A)	 g_{Û~mhþ {Ì^wO

	 (B)	 g_~mhþ {Ì^wO

	 (C)	 g_H$moU {Ì^wO

 	 (D)	 A{YH$H$moU {Ì^wO

	119.	 EH$ dñVw H$mo Xmo g_Vb Xn©U Ho$ _Ü` aIm J`m 
h¡ & `{X XmoZm| g_Vb Xn©U Ho$ _Ü` H$moU 45° 
hmo, Vmo à{V{~å~m| H$s g§»`m hmoJr

	 (A)	 5

	 (B)	 8
	 (C)	 7

	 (D)	 3

	117.	 In the given figure AB||CD if  
∠ABO = 100° and ∠OCD  = 115° then 
what will be the value of ∠bOC  ?

	 (A)	 80°

	 (B)	 65°

	 (C)	 35°

	 (D)	 45°

	118.	 Sides of a triangle are a, b, c respectively. 
If a2 + b2 + c2 = ab + bc + ac then this 
triangle is one among which of the 
following ?

	 (A)	 Isosceles triangle

	 (B)	 Equilateral triangle

	 (C)	 Right angled triangle

	 (D)	 Obtuse angled triangle

	119.	 An object is placed between two plane 
mirrors. If the angle between two plane 
mirrors is 45°, number of images will be

	 (A)	 5

	 (B)	 8

	 (C)	 7

	 (D)	 3
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	120.	 Consider the following statements :

	 a.	 The melting point of high density 
polythene is high.

	 b.	 Teflon is a homopolymer.

	 c.	 Polyvinyl chloride is good 
conductor of heat and electricity.

	 d.	 Starch and cellulose are natural 
polymers.

	 e.	 Biodegradable polymers are 
ecofriendly.

		  Wrong statements are :
	 (A)	 a and b	 (B)	 b and c
	 (C)	 a and c	 (D)	 d and e

	121.	 Match List – I with List – II and select the 
correct answer using following codes :

	 List – I	 List – II
	 a.	 Baking	 1.	 Sulphates and 
		  powder 		  chlorides of calcium 

and magnesium
	 b.	 Permanent	 2.	 Available chlorine
		  hardness
	 c.	 Bleaching	 3.	 Sodium 
		  powder 		  bicarbonate + 

Rochelle salt
	 d.	 Clinker	 4.	 Mixture of 

silicates and 
aluminates

	 e.	 Red glass	 5.	 Copper oxide
		 Codes :
		  a	 b	 c	 d	 e
	 (A)	 3	 1	 2	 4	 5
	 (B)	 1	 2	 3	 4	 5
	 (C)	 4	 3	 1	 2	 5
	 (D)	 1	 3	 4	 5	 2

	120.	 {ZåZ H$WZm| na {dMma H$s{O`o :

	 a.	 CÀM KZËd nm°brWrZ H$m JbZm±H$ CÀM 	
hmoVm h¡ &

	 b.	 Q>oâbm°Z EH$ hmo_monmbr_a h¡ &

	 c.	 nm°br{dZmB©b ŠbmoamB©S> Cî_m Ed§ {dÚwV H$m 
AÀN>m MmbH$ h¡ &

	 d.	 ñQ>mM© Ed§ gobwbmoO àmH¥${VH$ ~hþbH$ h¢ &

	 e.	 O¡dj`r ~hþbH$ n`m©daU Ho$ AZwHy$b h¢ &

		  JbV H$WZ h¢ :
	 (A)	 a Ed§ b	 (B)	 b Ed§ c
	 (C)	 a Ed§ c	 (D)	 d Ed§ e

	121.	 gyMr – I H$mo gyMr – II go gw_o{bV H$a {ZåZ H$moS>m| 
H$s ghm`Vm go ghr CÎma M`{ZV H$s{O`o :

	 gyMr – I	 gyMr – II
	 a.	 ~oqH$J nmCS>a	 1.	 H¡$b²{e`_ Ed§ _o½Zo{e`_ 

Ho$ gë\o$Q> Ed§ ŠbmoamB©S>
	 b.	 ñWm`r H$R>moaVm	 2.	 àmß` ŠbmoarZ

	 c.	 ãbrqMJ nmCS>a	 3.	 gmo{S>`_ ~mB©H$m~m}ZoQ> + 
amoeobo bdU

	 d.	 pŠb¨H$a	 4.	 {g{bHo$Q> Ed§ Eë`y{_ZoQ> 
H$m {_lU

	 e.	 bmb H$m±M	 5.	 H$mna AmŠgmB©S>
	           H$moS> :
	 	 a	 b	 c	 d	 e
	 (A)	 3	 1	 2	 4	 5
	 (B)	 1	 2	 3	 4	 5
	 (C)	 4	 3	 1	 2	 5
	 (D)	 1	 3	 4	 5	 2



a\$  H$m`©  Ho$ {bE ñWmZ
Space for Rough Work

		  	 32201/DS – GD/RCE – E

	 -33-	 Set-A

	122.	 Which are mismatched ?

	 a.	 Nuclear fuel – Uranium-238

	 b.	 Solar cell – 0.5 to 1.0 volt

	 c.	 Biogas – 75% methane

	 d.	 Wind mill – Velocity of 		
air = 10 kmph

	 e.	 Nuclear fisson – Atom bomb

	 (A)	 a and b	 (B)	 a and d

	 (C)	 c and e	 (D)	 b and d

	123.	 The speed of a bus is 84 km/h. The 
distance covered by the bus in 6 
second is

	 (A)	 110 m	 (B)	 120 m

	 (C)	 140 m	 (D)	 none of these

	124.	 Two trains of equal length are running 
on parallel lines in the same direction 
at 42 km/h and 22 km/h, respectively. 
The faster train passes the slower 
train in 54 second. The length of each 
train is

	 (A)	 75 m	 (B)	 150 m

	 (C)	 80 m	 (D)	 None of these

	125.	 The value of
( . . ) ( . . )

.
2 866 2 134 2 866 2 134

0 732
+ − is

	 (A)	 3	 (B)	 4
	 (C)	 5	 (D)	 6

	122.	 H$m¡Z-go gw_o{bV Zht h¢ ?

	 a.	 Zm{^H$s` BªYZ – `yao{Z`_-238

	 b.	 gmoba gob – 0.5 go 1.0 dmoëQ>

	 c.	 ~m`moJ¡g – 75% {_WoZ

	 d.	 {dÝS> {_b (ndZ MŠH$s) – dm`w H$m 		

doJ = 10 kmph

	 e.	 Zm{^H$s` {dIÊS>Z – na_mUw ~_

	 (A)	 a Ed§ b	 (B)	 a Ed§ d

	 (C)	 c Ed§ e	 (D)	 b Ed§ d

	123.	 EH$ ~g H$s Mmb 84 {H$._r./K§Q>m h¡ & ~g Ûmam  
6 goH§$S> _| V` H$s JB© Xÿar h¡ 

	 (A)	 110 _r.	 (B)	 120 _r.

	 (C)	 140 _r.	 (D)	 BZ_| go H$moB© Zht

	124.	 g_mZ bå~mB© dmbr Xmo aobJm{‹S>`m±  g_m§Va bmB©Z 
na EH$ hr {Xem _| H«$_e… 42 {H$._r./K§. Ed§ 

		  22 {H$._r./K§. H$s J{V go Mb ahr h¢ & VoO J{V 
dmbr aobJm‹S>r Yr_r J{V dmbr aobJm‹S>r H$mo 54 goH§$S> 
_| nma H$aVr h¡ & XmoZm| aobJm{‹S>̀ m| H$s bå~mB© hmoJr

	 (A)	 75 _r.	 (B)	 150 _r.

	 (C)	 80 _r.	 (D)	 BZ_| go H$moB© Zht

	125.	 ( . . ) ( . . )
.

2 866 2 134 2 866 2 134
0 732

+ −  

		  H$m _mZ h¡ 
	 (A)	 3	 (B)	 4
	 (C)	 5	 (D)	 6
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	126.	 (0.8 × 0.8 × 0.8 + 0.1 × 0.1 × 0.1) is 
equal to

	 (A)	 0.512	 (B)	 0.614

	 (C)	 0.586	 (D)	 0.513

	127.	 1 litre water is added into 5 litre solution 
containing 40% alcohol. Then what 
is the percentage of alcohol in new 
solution ?

	 (A)	 30%	 (B)	 33%	

	 (C)	 33
2
3 %	 (D)	 33

1
3

%

	128.	 A fruit seller earns a profit equal to the 
selling price of 50 bananas after selling 
250 bananas. Then what is his profit 
percentage ?

	 (A)	 5%	 (B)	 10%	
	 (C)	 20%	 (D)	 25%	

	129.	 If the height and radius of the base 
of a cone are each increased by 
100%, then volume of the cone is 
increased by 	

	 (A)	 8 times	 (B)	 10 times

	 (C)	 6 times	 (D)	 4 times

	130.	 What is the difference between simple 
interest and compound interest of an 
amount of Rs. 1,000/- for 2 years at 
the sale of 5% annual interest ?

	 (A)	 Rs. 2.00	 (B)	 Rs. 2.50

	 (C)	 Rs. 3.00	 (D)	 Rs. 3.50

	126.	 (0.8 × 0.8 × 0.8 + 0.1 × 0.1 × 0.1)		
H$m _mZ h¡ 

	 (A)	 0.512	 (B)	 0.614

	 (C)	 0.586	 (D)	 0.513

	127.	 40% EëH$mohb Ho$ 5 brQ>a {db`Z _| 1 brQ>a 
nmZr S>mbZo na Z`o {db`Z _| EëH$mohb H$s _mÌm 
{H$VZr à{VeV hmoJr ?

	 (A)	 30%	 (B)	 33%	

	 (C)	 33
2
3 %	 (D)	 33

1
3

%

	128.	 250 Ho$bo ~oMZo na EH$ \$b {dH«o$Vm H$mo 50 Ho$bm| 
Ho$ {dH«$` _yë` Ho$ ~am~a bm^ hmoVm h¡, Vmo CgH$m 
bm^ à{VeV {H$VZm h¡ ?$

	 (A)	 5%	 (B)	 10%	

	 (C)	 20%	 (D)	 25%	

	129.	 `{X EH$ e§Hw$ H$s D±$MmB© VWm AmYma {ÌÁ`m XmoZm| 
H$mo 100% ~‹T>m {X`m Om`o, Vmo e§Hw$ H$m Am`VZ 
{H$VZm JwZm ~‹T> Om`oJm ?

	 (A)	 8 JwZm	 (B)	 10 JwZm

	 (C)	 6 JwZm	 (D)	 4 JwZm

	130.	 é.1,000/- H$s YZam{e na 5% dm{f©H$ ã`mO 
H$s Xa go 2 df© Ho$ MH«$d¥{Õ ã`mO VWm gmYmaU 
ã`mO H$m A§Va {H$VZm hmoJm ?

	 (A)	 é. 2.00	 (B)	 é. 2.50

	 (C)	 é. 3.00	 (D)	 é. 3.50
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	131.	 Pollination is a characteristic of
	 (A)	 Angiosperm
	 (B)	 Pteridophytes
	 (C)	 Bryophytes
	 (D)	 All of the above

	132.	 Methylated spirit contains
	 (A)	 2% to 5% methanol
	 (B)	 5% to 7% methanol
	 (C)	 10% to 15% methanol
	 (D)	 40% to 50% methanol

	133.	 Which of the following is non-renewable 
source of energy ?

	 (A)	 Coal

	 (B)	 Gobar gas

	 (C)	 Solar energy

	 (D)	 Tidal energy

	134.	 Which among the following has 
maximum number of molecules ?

	 (A)	 44 gm CO2

	 (B)	 48 gm O2

	 (C)	 64 gm SO2

	 (D)	 8 gm H2

	135.	 The number of chromosomes in 
Human body is

	 (A)	 44
	 (B)	 46
	 (C)	 48
	 (D)	 None of the above

	131.	 namJU {ZåZ _| go {H$gH$s {deofVm hmoVr h¡ ?
	 (A)	 EpÝO`moñn_©
	 (B)	 Q>o[aS>mo\$mB©Q²>g
	 (C)	 ~«m`mo\$mB©Q²>g
	 (D)	 CnamoŠV g^r

	132.	 {_WmB©boQ>oS>> pñn[aQ> _| hmoVm h¡
	 (A)	 2% go 5% {_WoZm°b
	 (B)	 5% go 7% {_WoZm°b
	 (C)	 10% go 15% {_WoZm°b
	 (D)	 40% go 50% {_WoZm°b

	133.	 {ZåZ _| go H$m¡Z-gm EH$ J¡a-ZdrH$aUr` D$Om© 
òmoV h¡ ?

	 (A)	 H$mo`bm

	 (B)	 Jmo~a J¡g

	 (C)	 gm¡`© D$Om©

	 (D)	 Ádmar` D$Om©

	134.	 {ZåZ Ho$ _Ü` {H$g _| AUwAm| H$s g§»`m  

gdm©{YH$ h¡ ?

	 (A)	 44 J«m_ CO2

	 (B)	 48 J«m_ O2

	 (C)	 64 J«m_ SO2

	 (D)	 8 J«m_ H2

	135.	 _mZd eara _| JwUgyÌmo§ H$s g§»`m h¡ 

	 (A)	 44

	 (B)	 46

	 (C)	 48

	 (D)	 CanmoŠV _| go H$moB© Zht
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	136.	 Maximum percentage of carbon 
present in

	 (A)	 C2H6	 (B)	 C6H14

	 (C)	 C6H12	 (D)	 C6H6

	137.	 The formula of nitride of a metal is MN. 
The formula of its sulphate will be

	 (A)	 MSO4	 (B)	 M2SO4

	 (C)	 M2(SO4)3	 (D)	 M(SO4)2

	138.	 If 100 joule per second heat is released 
by a wire of 4 ohm resistance. The 
potential difference between two end 
of wire is

	 (A)	 5 volt	 (B)	 25 volt

	 (C)	 10 volt	 (D)	 20 volt

	139.	 The sum of first 13 multiple of 6 is	
	 (A)	 1092	 (B)	 546

	 (C)	 741	 (D)	 852

	140.	 The sum of two numbers is 23 and their 
product is 120. The absolute difference 
of the numbers is

	 (A)	 9	 (B)	 8
	 (C)	 7	 (D)	 5

	141.	 When n is divisible by 3 the remainder 
is 1, then remainder when n2 is divided 
by 3 is

	 (A)	 1	 (B)	 2
	 (C)	 0	 (D)	 None of these

	136.	 H$m~©Z H$s gdm©{YH$ à{VeV CnpñWV h¡

	 (A)	 C2H6 _|	 (B)	 C6H14 _|

	 (C)	 C6H12 _|	 (D)	 C6H6 _|

	137.	 EH$ YmVw Ho$ ZmBQ´>mB©S> H$m gyÌ MN h¡ & BgHo$ 

gë\o$Q> H$m gyÌ hmoJm

	 (A)	 MSO4	 (B)	 M2SO4

	 (C)	 M2(SO4)3	 (D)	 M(SO4)2

	138.	 4 Amo_ à{VamoY Ho$ EH$ Vma go `{X 100 Oyb à{V 

goHo$ÊS> Cî_m _wŠV hmoVr hmo, Vmo Vma Ho$ XmoZm| {gam| 

Ho$ _Ü` {d^dmÝVa h¡

	 (A)	 5 dmoëQ>	 (B)	 25 dmoëQ>

	 (C)	 10 dmoëQ>	 (D)	 20 dmoëQ>

	139.	 6 Ho$ àW_ 13 JwUOm| H$m `moJ h¡

	 (A)	 1092	 (B)	 546

	 (C)	 741	 (D)	 852

	140.	 Xmo g§»`mAm| H$m `moJ\$b 23 Ed§ JwUZ\$b 120 h¡ & 

CZ g§»`mAm| H$m {Zanoj A§Va h¡ 

	 (A)	 9	 (B)	 8

	 (C)	 7	 (D)	 5

	141.	 `{X n, 3 go {d^m{OV hmoZo na eof\$b 1 h¡, Vmo  

n2 H$mo 3 go {d^m{OV H$aZo na eof\$b hmoJm

	 (A)	 1	 (B)	 2

	 (C)	 0	 (D)	 BZ_| go H$moB© Zht
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	142.	 The least positive integer which is a 
perfect square and also divisible by 
each of 6, 7, 8 is

	 (A)	 1764	 (B)	 2856
	 (C)	 3192	 (D)	 7056

	143.	 A takes 2 hours more than B to complete 
a distance of 30 km. If A doubles his 
speed then he will take 1 hour less than 
B in completing the same distance.	
Then what will be speed of A ?

	 (A)	 5 km/hr.
	 (B)	 6 km/hr.	
	 (C)	 6.25 km/hr.		

	 (D)	 7.5 km/hr.

	144.	 A Missile goes at the speed of 
1386 km/hr, then what distance it 
will cover in 1 second ?

	 (A)	 305 m	 (B)	 385 m	
	 (C)	 372 m	 (D)	 325 m	

	145.	 461+ 462 + 463 + 464 is divisible by which 
of the following number ?

	 (A)	 3	 (B)	 10	
	 (C)	 11	 (D)	 13	

	146.	 Salary of Ramesh is increased by 
20%. If the increased salary is further 
decreased by 20%, then the loss 
percentage of Ramesh will be 

	 (A)	 4%	 (B)	 10%	

	 (C)	 15
1
3 %	 (D)	 20%	

	142.	 Ý`yZV_ YZmË_H$ nyUmªH$ Omo nyU© dJ© h¡ VWm 		

6, 7, 8 àË`oH$ go {d^m{OV hmoVm h¡, hmoJm

	 (A)	 1764	 (B)	 2856

	 (C)	 3192	 (D)	 7056

	143.	 30 {H.$_r. Xÿar V` H$aZo _| A, B go 2 K§Q>o A{YH$ 
boVm h¡ & `{X A AnZr Mmb XþJZr H$a Xo Vmo Bg 
Xÿar H$mo V` H$aZo _| B go 1 K§Q>m H$_ boJm, Vmo A 
H$s Mmb {H$VZr h¡ ?

	 (A)	 5 {H$._r./K§Q>m

	 (B)	 6 {H$._r./K§Q>m

	 (C)	 6.25  {H ._r./K§Q>m

	 (D)	 7.5 {H$._r./K§Q>m

	144.	 EH$ {_gmBb 1386 {H$._r./K§Q>m H$s J{V go 
MbVr h¡, Vmo EH$ goHo$ÊS> _| dh {H$VZr Xÿar 		
V` H$aoJr ?

	 (A)	 305 _r.	 (B)	 385 _r.	

	 (C)	 372 _r.	 (D)	 325 _r.	

	145.	 461+ 462 + 463 + 464  {ZåZ _| go {H$ggo  
{d^mÁ` h¡ ?

	 (A)	 3	 (B)	 10	
	 (C)	 11	 (D)	 13	

	146.	 a_oe Ho$ doVZ _| 20% H$s d¥{Õ H$a Xr JB© & ~‹T>o 
hþE doVZ H$mo 20% H$_ H$aZo na a_oe H$mo {H$VZo 
à{VeV H$s hm{Z hmoVr h¡ ?

	 (A)	 4%	 (B)	 10%	

	 (C)	 15
1
3 %	 (D)	 20%
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	147.	 _eê$_ __________ Ho$ àMwa òmoV h¡ &

	 (A)	 àmoQ>rZ 

	 (B)	 bdU 

	 (C)	 H$m~m}hmBS´>oQ>

	 (D)	 CnamoŠV _| go H$moB© Zht

	148.	 `{X noQ> (Am_me`) H$moB© hmBS´>moŠbmo[aH$ Aåb 

H$m CËnmXZ Z H$a|, Vmo H$m¡Z-gm EÝOmB_ H$m`© 

Zht H$aoJm ?

	 (A)	 Q>`m{bZ	

	 (B)	 {Q´>ßgrZ

	 (C)	 noßgrZ	

	 (D)	 H$moboJoZog

	149.	 {ZåZ _| go àH$me H$m H$m¡Z-gm Va§JX¡¿`© H$m àH$me 
g§íbofU Ho$ {b`o gdm©{YH$ AdemofU hmoVm h¡ ?

	 (A)	 bmb àH$me

	 (B)	 Zrbm àH$me

	 (C)	 ham àH$me

	 (D)	 nrbm àH$me

	150.	 EH$ ñdñW _Zwî` _| aŠV Ho$ à{V 100 ml _| CnpñWV 

J«m_m| _| gm_mÝ` hr_mo½bmo{~Z H$s _mÌm hmoVr h¡

	 (A)	 9.8	 (B)	 12.5

	 (C)	 14.5	 (D)	 11.5

	

	

	147.	 The Mushrooms are rich sources of 

	 (A)	 Protein

	 (B)	 Minerals

	 (C)	 Carbohydrates

	 (D)	 None of the above

	148.	 If stomach does not produce any 
hydrochloric acid, which enzyme will 
not function ?

	 (A)	 Ptyalin

	 (B)	 Trypsin

	 (C)	 Pepsin

	 (D)	 Collagenase

	149.	 Which of the following wavelength 
of light is absorbed maximum for 
photosynthesis ?

	 (A)	 red light
	 (B)	 blue light
	 (C)	 green light
	 (D)	 yellow light

	150.	 Normal haemoglobin content of an 
adult man in terms of gram per 100 ml 
of blood is

	 (A)	 9.8	 (B)	 12.5

	 (C)	 14.5	 (D)	 11.5
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    SET –  A 

CÎma A§{H$V H$aZo H$m g_` :          3 K§Q>o	 A{YH$V_ A§H$ : 150

Time for making answers : 3 Hours	 Maximum Marks : 150

ZmoQ> :
1.	 Bg àíZ nwpñVH$m _| {ZåZ ^mJ hmo§Jo :	       à. g§.

	 ^mJ – (1) : amÁ` H$m gm_mÝ` kmZ	 -	 1-25
	 ^mJ – (2) : ^mfm ({hÝXr, N>ËVrgJ‹T>r Ed§ A§J«oOr)	 -	 26-50
	 ^mJ – (3) : gm_mÝ` kmZ, g_gm_{`H$ KQ>ZmH«$_, IobHy$X, Xoe-{dXoe	 -	 51-100
	 ^mJ – (4) : J{UV Ed§ gm_mÝ` {dkmZ	 -	 101-150
	 àË`oH$ àíZ 1 A§H$ H$m h¡ &

2.	 àíZm| Ho$ CÎma, Xr JB© OMR CÎmaerQ> (Am§gaerQ>) na A§{H$V H$s{OE Ÿ&

3.	 JbV CÎma A§{H$V H$aZo na 1/4 A§H$ H$mQ>o Om`|Jo &

4.	 {H$gr ^r Vah Ho$ H¡$bHw$boQ>a `m bm°J Q>o~b Ed§ _mo~mBb \$moZ H$m à`moJ d{O©V h¡ Ÿ&

5.	 OMR CÎmaerQ> (Am§gaerQ>) H$m à`moJ H$aVo g_` Eogr H$moB© AgmdYmZr Z H$a|/~aV| {Oggo `h \$Q> Om`o `m 
Cg_| _mo‹S> `m {gbdQ> Am{X n‹S> Om`o {OgHo$ \$bñdê$n dh Iam~ hmo Om`o Ÿ&

Note :

1.	  This Question Booklet contains Parts :	       Q. No.
	 Part – (1) : General Knowledge of the State	 –	 1-25 
	 Part – (2) : Language (Hindi, Chhattisgarhi, English)	 –	 26-50 
	 Part – (3) : General Knowledge, Current Affairs,	
	                   Sports, National-International	 –	 51-100 
	 Part – (4) : Mathematics and General Science	 –	 101-150
	 Each question carries 1 mark.

2.	 Indicate your answers on the OMR Answer-Sheet provided.

3.	 1/4 mark will be deducted for each wrong Answer.
4.	 Use of any type of calculator or log table and mobile phone is prohibited.

5.	 While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does 
not get torn or spoiled due to folds and wrinkles.


